| Efficiency vs Dxy |
> 0.2

< r : : : : : : :
S C : : : : : :
0 018 P preee proeee R
< : : : : : : :
L
o O : : : : : :
2 0.14p e e T e A

02

eff

NI TEE . ——
S S S R | 15 s o

0.06 i fi1 [

0.04F oot B

0,020 +veeeesbef L

E
H [®)
TTTTT T 1T

Ratio
(=Y
H

10 15 20
TP dxy (cm)

—=— DQM_origimal_stepZ_ttbar-phasel-newgeom
ffici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
| Efficiency vs Dz | —«— DOQM_pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom

0.2 —+— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
N . ; T T T
> : : :

PP SOV NSRS SRS SN S —
8 0,48

[8) - : : : : :

c e Seemneeeees Sreeeeeeeees R R
Q 0.16 : : : : :

() - : : : : :
EO.14_' B g froreeeees R R
() : : :

0.02F |y AR S—  —
0.AF- 4|4 ff o ? -------------------------------------------
T O
006 (Al A 1
0.04f+ |- fi-{oi2 % ---------- — 1 ...
31 e Mtk
0,021 T s i

illlllllll:rllllllll

Ratio
H
i

083920 -10

10 20 30
TP dz (cm)



	Contents
	Page 1


